Conversion Décimal en Octal (J)

Ecrivez chaque nombre dans le systeme de numération de base indiqué.

L Décimal = 2 2. Décimal = 49
Octal = Octal =

3 Décimal = 709 4 Décimal = 992
Octal = Octal =

g Décimal = 400 0. Décimal = 758
Octal = Octal =

7 Décimal = 925 8 Décimal = 793
Octal = Octal =

9. f 10. C
Décimal = 8594 Décimal = 6649
Octal = Octal =
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Conversion Décimal en Octal (J) Réponses

Ecrivez chaque nombre dans le systeme de numération de base indiqué.

1. Décimal = 2 2. Décimal = 49
Octal = 2 Octal = 61

3. Décimal = 709 4. Décimal = 992
Octal = 1305 Octal = 1740

9. Décimal = 400 0. Décimal = 758
Octal = 620 Octal = 1366

T Décimal = 925 8 Décimal = 793
Octal = 1635 Octal = 1431

). Décimal = 8594 10 Décimal = 6649
Octal = 20622 Octal = 14771
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